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(2] 100kPa = [iEE] O.|kPa
(2] 750mmHg =  [E] 0.75mmHg
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Pa hPa kPa MPa :

B b4 2 * 3 o -6 3% -5
1Pa (1 22—k : N 1 % 10¢ hPa 1% 109kPa | 1 % 10° MPa 1 % 107 par 0. 1kPa
1hPa 100 Pa ‘ 1x 10¢Mpa | 1010700

(1 mbar)
1 kPa 1000 Pa 10 hPa = 1 %X 10° MPa 1 x 107 bar
1 MPa 1 000 000 Pa 10 000 hPa 1000 kPa — 10 bar
1 bar 100 000 Pa 1 000 hPa 100 kPa 0.1 MPa =
= 1 bar
1 atm (TE) 101 325 Pa 1013 hPa 101.3 kPa 0.1 MPa (1 013 mbar)
1 mmHg 133 Pa 1.33 hPa 0.133 kPa 133 % 10 MPa | 1.33 X 10 bar
= 100 kPa = 0.1 Mpa = 1 bar
2
T kgtfom 98 066 Fa 980 hPa (98kPa) | (0.098 MPa) | (0.98 bar)
1 psi 6 894 Pa 68.94 hPa 6.894 kPa | 6894 X 10 MPa | 68.94 x 107 bar
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S atm (P ~4A) # : mmHg =2 IN=FHE | P - A 2F psi
= t—Jl (torr) 2F Akgficm?) (FH1)
) N 1.0197 x 10+ P
1Pa 9.87 = 10° atm 7.5 = 107 mmHg kgfiem? 145 > 10° psi 0 ?SmmHg
— =
1 hPa 9.87 X 10 atm 750 mmHg 1.0197 x ,10 145 x 10 psi
kaffcm?
= (0.01 kgffcm? .
. X 3 7. ; i x 102
1 kPa 9.87 x 107 atm 5 mmHg ( 0.010 kgtfcr?) 145 0 psi
= 10 kgffcm? .
1 MPa 9.87 atm T 500 mmHg (10197 kgffcm?) 145 psi
=1 atm = 1 kgfiem® .
1ber (0.987 atm) 760 mmHg (1.01 kgtfom) | 14O PSI
1 atm (L) — 760 mmHg 0.967 kglifcm? 14.7 psi
. 1.36 X 10® -
W 3 a
1 mmHg 1.32 X 109 atm kgffem® 19.3 X 107 psi
= 1 atm
. . :
1 kgffem (0.967 atm) 737 mmHg 14.2 psi
: 70.31 x 10* o
1 psi 68.05 X 10° atm 51.75 mmHg kgffom




